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1. The exponent of 5 in the prime factorisation

of 3750 is


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_VJ31u2TmUOqO

A.3

B.4

C.5

D.6

Answer:

o Watch Video Solution

2. The graph of a polynomial P(x) cuts the x-axis
at 3 points and touches it at 2 other points.

The number of zeroes of P(x) is


https://dl.doubtnut.com/l/_VJ31u2TmUOqO
https://dl.doubtnut.com/l/_bvKWU8zKfUoV

A1l

B.2

C.3

D.5

Answer:

o Watch Video Solution

3. The value of x and y satisfying the two
equations 32z + 33y = 34, 33z + 32y = 31

respectively are:


https://dl.doubtnut.com/l/_bvKWU8zKfUoV
https://dl.doubtnut.com/l/_Hrt3f8fPWeQF

A—1,2

B.— 1,4

1, —2

D.—1, — 4

Answer:

o Watch Video Solution

4.1f A(3,+/3), B(0,0) and C(3,k) are the three
vertices of an equilateral triangle ABC, then the

value of k is


https://dl.doubtnut.com/l/_Hrt3f8fPWeQF
https://dl.doubtnut.com/l/_X4qVA5qANuCB

A2

Answer:

o Watch Video Solution

5. In figure,

DE | | BC, AD = 2¢m and BD = 3cm,


https://dl.doubtnut.com/l/_X4qVA5qANuCB
https://dl.doubtnut.com/l/_zHYHjb2jM6cF

then ar (AABC):ar (AADE),is equal to

A.4:25

B.2:3

C.9:4

D.25:4


https://dl.doubtnut.com/l/_zHYHjb2jM6cF

Answer:

o Watch Video Solution

6. If cot # = ——, the value of sec? § + cosec’d
V3

IS


https://dl.doubtnut.com/l/_zHYHjb2jM6cF
https://dl.doubtnut.com/l/_B1C5hxxHgtvW

Answer:

o Watch Video Solution

7. The area of a quadrant of a circle where the

circumference of circle is 1776 m is

A. 2464m°

B. 1232m>

C.616m>

D. 308m>


https://dl.doubtnut.com/l/_B1C5hxxHgtvW
https://dl.doubtnut.com/l/_bNg4CGreAIeU

Answer:

o Watch Video Solution

8. For an event E, P(E) + P(E’) = x, then the value

of £ — 3is

B.2

C. 1


https://dl.doubtnut.com/l/_bNg4CGreAIeU
https://dl.doubtnut.com/l/_6I477LCgxUV3

Answer:

o Watch Video Solution

9. What is the greatest possible speed at which

a girl can walk 95 m and 171 m in an exact

number of minutes ?

A.17 m/min

B.19 m/min

C.23 m/min

D. 13m/min


https://dl.doubtnut.com/l/_6I477LCgxUV3
https://dl.doubtnut.com/l/_DG5kzCcN0kSD

Answer:

o Watch Video Solution

10. In figure, the graph of a polynomial P(x) is

shown. The number of zeroes of P(x) is

Iz*_T.'I.'
1*{x)
e - r-—l-\ﬂ s
v x
v

A1l


https://dl.doubtnut.com/l/_DG5kzCcN0kSD
https://dl.doubtnut.com/l/_5sz6qviAXZhC

B.2

C.3

D.4

Answer:

o Watch Video Solution

1. Two lines are given to be parallel. The
equation of one of the lines is 3z — 2y = 5.

The equation of the second line can be


https://dl.doubtnut.com/l/_5sz6qviAXZhC
https://dl.doubtnut.com/l/_WOWzGgmehya2

A9z + 8y =17

B.—12x — 8y =7

C—12xz +8y =7

D.12z +8y =7

Answer:

o Watch Video Solution

12. Three vertices of a parallelogram ABCD
are A(1,4),B(—2,3) and C(5,8). The

ordinate of the fourth vertex D is


https://dl.doubtnut.com/l/_WOWzGgmehya2
https://dl.doubtnut.com/l/_O4h3Yl1Nllm7

A.8

B.9

C.7

D.6

Answer:

o Watch Video Solution

13. In AABC and ADFEF, /F = /C ,
1
/B =/F and AB = EDE' Then, the two

triangles are


https://dl.doubtnut.com/l/_O4h3Yl1Nllm7
https://dl.doubtnut.com/l/_RdIerIND1MSY

A. Congruent, but not similar.

B. Similar, but not congruent.

C. Neither congruent nor similar

D. Congruent as well as similar.

Answer:

° Watch Video Solution

14. In AABC right angled at B, sin A = 2—75,

then the value of cos C is


https://dl.doubtnut.com/l/_RdIerIND1MSY
https://dl.doubtnut.com/l/_Hn0kJjDMBSII

25

, 2
25

24
24

Answer:

o Watch Video Solution

15. The minute band of a clock is 84 cm long.
The distance covered by the tip of minute hand

from10:10amto 10: 25 am s


https://dl.doubtnut.com/l/_Hn0kJjDMBSII
https://dl.doubtnut.com/l/_jjYujcEhEnK9

A.44 cm

B.88 cm

C.132cm

D.176 cm

Answer:

o Watch Video Solution

16. The probability that the drawn card from a

pack of 52 card is neither an ace nor spade is.


https://dl.doubtnut.com/l/_jjYujcEhEnK9
https://dl.doubtnut.com/l/_V2RwwcJDA0JA

13

35
52

10
13

19
26

Answer:

° Watch Video Solution

17. Three alarm clocks ring their alarms at
regular intervals of 20min, 25 min and 30 min

respectively. If they first beep together at 12


https://dl.doubtnut.com/l/_V2RwwcJDA0JA
https://dl.doubtnut.com/l/_SyOhagm394UR

noon, at what time will they deep again for the

first time?

A.4:00pm

B.4:30pm

C.5:00pm

D.5:30 pm

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SyOhagm394UR

18. A quadratic polynomial , the product and
sum of whose zeroes are 5 and 8 respectively is
A klz® — 8z + 5]
B.k[z” + 8z + 5]

C.k[z* — 5z + 8§

D.k[z” 4+ 5z + 8

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ii53FMruNBEb
https://dl.doubtnut.com/l/_lWN2e5Cub6KA

19. Point A(-1y) and B (5,7) lie on a circle with

centre O (2,-3y). The values of y are

A 1,7

B.—1,7

C. 2,7

D.—2, —7

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_lWN2e5Cub6KA

20. Give that secf = /2 , the value of

1+ tanf
is

sin 6

A 2,/2
B. /2
C.3v/2

D.?2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_UwfLnZjJGF61

1. Find the greatest number which an dividing

1251, 9377 and 15628 leaves remainders 1,2 and

3 respectively .

A.575

B. 450

C.750

D. 625

Answer:



https://dl.doubtnut.com/l/_jgUQnb12RDDP

o Watch Video Solution

2. Which of the following cannot be the

probability of an event ?

A. 0.01

B.3 %

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jgUQnb12RDDP
https://dl.doubtnut.com/l/_pKyTCnO1WIJF

3. The diameter of a car wheel is 42 cm. The

number of complete revolutions it will make in

moving 132 km is

A. 10

B. 10°

C.10°

D. 10°

Answer:

l o Watch Video Solution


https://dl.doubtnut.com/l/_pKyTCnO1WIJF
https://dl.doubtnut.com/l/_mW6bKaMrpfaO

4.If 0 is an acute angle and tan + cot 6 = 2,

then the value of sin® @ + cos® 0 is

N @

o

%I M‘E N | =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mW6bKaMrpfaO
https://dl.doubtnut.com/l/_w1VxuM8fVhyO

5. The ratio in which the line 3x + y -9 =0

divides the line segment joining the points (1,

3)and (2,7) is

A 3:2

B.2:3

C.3:4

D.4:3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_w1VxuM8fVhyO
https://dl.doubtnut.com/l/_1AlDChGoPUug

6. If x - 1 is a factor of the polynomial

p(z) = 2> + ax® + 2band a + b = 4, then

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1AlDChGoPUug
https://dl.doubtnut.com/l/_hoal8C9K6qCd

7.1f a and b are two coprime numbers , then a®

and b° are

A. Coprime

B. Not coprime

C. Even

D. Odd

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ngzUxUlH5lPt
https://dl.doubtnut.com/l/_Bg3PihtbqJpe

8. The area of square that can be inscribed in a

1408 .
cm IS

circle of area

A. 321cm?

B. 642cm?

C. 128¢cm?>

D. 256¢m>

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Bg3PihtbqJpe

9.If A(4,-2), B(7,-2) and C(7,2) are the vertices of

a AABC,then AABC'is

A. equilateral triangle

B. isosceles triangles

C.right angled triangle

D. isosceles right angled triangle

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_64SZwRd4fNBR
https://dl.doubtnut.com/l/_dGjknhGIMUxT

10. If o, B are the zeros of the quadratic

polynomial
p(z) = z* — (k+ 6)xz + 2(2k — 1) then the

1
value of k,ifa + B = Eozﬂ, is

A —T7

B.7

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dGjknhGIMUxT

1. If n is natural number, then 2(5" 4 6")
always ends with

A1l

B.4

C.3

D. 2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OMoXlWnUdD9H
https://dl.doubtnut.com/l/_Bnk8HIGj9wAW

12. The line segment joining the points
P( — 3,2) and Q(5,7) is divided by the y - axis
in the ratio

A 3:1

B.3:4

C.3:2

D.3:5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Bnk8HIGj9wAW
https://dl.doubtnut.com/l/_uDba0CNEQ3qD

13. If

a cot 0 + bcosecld = p and bcot 8 + acosec 6 = g

, then p2 — q2=
A.a? — b
B. b — a?
C.a’ + b
D.b —a

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_uDba0CNEQ3qD
https://dl.doubtnut.com/l/_Cx1UGzJn4nFE

14. If the perimeter of a circle is half to that of
a square , then the ratio of the area of the
circle to the area of the square is

A 22:7

B.11:7

C.7:11

D.7:22

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Cx1UGzJn4nFE
https://dl.doubtnut.com/l/_SYunSwDFEadS

15. A dice is rolled twice. The probability that 5

will not come up either time is

13
36

25
36

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SYunSwDFEadS

16. The LCM of two number is 2400. Which of

the following CANNOT be their HCF ?

A.300

B. 400

C. 500

D. 600

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_38BrOIbWG3TP
https://dl.doubtnut.com/l/_tGhndbSB0QU2

17.1n fig., PA, QB and RC are each perpendicular

to AC. If x=8 cm and z=6 cm , then y is equal to

56
A.—cm

B. —
560m

25

C.—cm
7

24
D.—cm
7


https://dl.doubtnut.com/l/_tGhndbSB0QU2

Answer:

o Watch Video Solution

18. In a
AABC, /A =z°,/B = 3z — 2)°ZC = y°
. Also ZC — /B =9°. The sum of the
greatest and the smallest angles of this

triangle is .

A. 107°

B.135°


https://dl.doubtnut.com/l/_tGhndbSB0QU2
https://dl.doubtnut.com/l/_HaHrVFx7oXOP

C.155°

D. 145°

Answer:

o Watch Video Solution

19.If secf + tan @ = p, then tanf is equal to



https://dl.doubtnut.com/l/_HaHrVFx7oXOP
https://dl.doubtnut.com/l/_IdCCuumNDjCh

Answer:

o Watch Video Solution

20. The base BC of an equilateral triangle ABC
lies on y-axis. The coordinates of point C are (O,
-3). The origin is the midpoint of the base.

Find the coordinates of the points A and B.
Also, find the coordinates of another point D

such that ABCD is a rhombus.


https://dl.doubtnut.com/l/_IdCCuumNDjCh
https://dl.doubtnut.com/l/_X4TLA9Pezbwz

A.A(+/3,0), B(0, 3)
B. A( +34/3,0), B(3,0)
C. A( £34/3,0), B(0, 3)

D.A( —+/3,0), B(3,0)

Answer:

o Watch Video Solution

Section C Case Study


https://dl.doubtnut.com/l/_X4TLA9Pezbwz

1. A book store shopkeeper gives books on rent
for reading. He has variety of books in his store
related to fiction , stories and quizzes etc. He
takes a fixed charge for the first two days and
an additional charges for subsequent day .
Amruta paid Rs 22 for a book and kept for 6
days, while Radhika paid Rs 16 for keeping the

books for 4 days.



https://dl.doubtnut.com/l/_p1y9n634pfwm

Assume that the fixed charge be rs x and
additional charge (per day) by Rs y.

Based on the above information answer and
four of the following questions:

The situation of amount paid by Radhika is

algebraically repesented by .

Az —4y =16
B.z 4+ 4y = 16
Czx—2y=16
D.z + 2y = 16

Answer:


https://dl.doubtnut.com/l/_p1y9n634pfwm

o Watch Video Solution

2. A book store shopkeeper gives books on rent
for reading. He has variety of books in his store
related to fiction , stories and quizzes etc. He
takes a fixed charge for the first two days and
an additional charges for subsequent day .
Amruta paid Rs 22 for a book and kept for 6
days, while Radhika paid Rs 16 for keeping the

books for 4 days.


https://dl.doubtnut.com/l/_p1y9n634pfwm
https://dl.doubtnut.com/l/_Aao6PiqtCbr3

Assume that the fixed charge be rs x and
additional charge (per day) by Rs y.

Based on the above information answer and
four of the following questions:

The situation of amount paid by Amrita is

algebraically represented by

Az —2y=11


https://dl.doubtnut.com/l/_Aao6PiqtCbr3

B.x — 2y = 22

C.x +4y = 22
D.z — 4y =11
Answer:

o Watch Video Solution

3. Abook store shopkeeper gives books on rent
for reading. He has variety of books in his store
related to fiction , stories and quizzes etc. He

takes a fixed charge for the first two days and


https://dl.doubtnut.com/l/_Aao6PiqtCbr3
https://dl.doubtnut.com/l/_MvU3xJVOR8S0

an additional charges for subsequent day .
Amruta paid Rs 22 for a book and kept for 6
days, while Radhika paid Rs 16 for keeping the

books for 4 days.

Assume that the fixed charge be rs x and
additional charge (per day) by Rs y.

Based on the above information answer and


https://dl.doubtnut.com/l/_MvU3xJVOR8S0

four of the following questions:

What are the fixed charges for a book ?

A.Rs.9

B.Rs. 10

C.Rs. 13

D.Rs. 15

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MvU3xJVOR8S0

4. A book store shopkeeper gives books on rent
for reading. He has variety of books in his store
related to fiction , stories and quizzes etc. He
takes a fixed charge for the first two days and
an additional charges for subsequent day .
Amruta paid Rs 22 for a book and kept for 6

days, while Radhika paid Rs 16 for keeping the

books for 4 days.



https://dl.doubtnut.com/l/_sOurl5j31ocH

Assume that the fixed charge be rs x and
additional charge (per day) by Rs y.
Based on the above information answer and
four of the following questions:
What are the additional charges for each
subsequent day for a book ?

A.Rs. 6

B.Rs.5

C.Rs. 4

D.Rs. 3

Answer:


https://dl.doubtnut.com/l/_sOurl5j31ocH

o Watch Video Solution

5. Abook store shopkeeper gives books on rent
for reading. He has variety of books in his store
related to fiction , stories and quizzes etc. He
takes a fixed charge for the first two days and
an additional charges for subsequent day .
Amruta paid Rs 22 for a book and kept for 6
days, while Radhika paid Rs 16 for keeping the

books for 4 days.


https://dl.doubtnut.com/l/_sOurl5j31ocH
https://dl.doubtnut.com/l/_YsGTRMdHi2j0

Assume that the fixed charge be rs x and
additional charge (per day) by Rs y.

Based on the above information answer and
four of the following questions:

What is the total amount paid by both, if both

of them have kept the book for 2 more days ?

A.Rs. 35


https://dl.doubtnut.com/l/_YsGTRMdHi2j0

B.Rs. 52

C.Rs. 50

D. Rs. 58

Answer:

o Watch Video Solution

6. A farmer has a field in the shape of
trapezium whose map with scale 1cm =20 m is
given below :

The field is divided into four parts by joining


https://dl.doubtnut.com/l/_YsGTRMdHi2j0
https://dl.doubtnut.com/l/_DEbJlIHmGdZ7

the opposite vertices .

\ 0 em

*
10 ¢m

Based on the above information , answer any
four of the following questions :
The two triangular regions AOB and COD are

A. Similar by AA criterion

B. Similar by SAS criterion

C. Similar by RHS criterion

D. Not similar


https://dl.doubtnut.com/l/_DEbJlIHmGdZ7

Answer:

o Watch Video Solution

7. A farmer has a field in the shape of
trapezium whose map with scale 1cm =20 m is
given below :

The field is divided into four parts by joining

the opposite vertices .


https://dl.doubtnut.com/l/_DEbJlIHmGdZ7
https://dl.doubtnut.com/l/_zHX3nvE7IKcZ

f em

D

. = 1
10 cm C

Based on the above information , answer any
four of the following questions :
The ratio of the area of the AAOB to the area
of ACOD ,is

Ad:1l

B.1:4

C.1:2

D.2:1


https://dl.doubtnut.com/l/_zHX3nvE7IKcZ

Answer:

o Watch Video Solution

8. A farmer has a field in the shape of
trapezium whose map with scale 1cm =20 m is
given below :

The field is divided into four parts by joining

the opposite vertices .


https://dl.doubtnut.com/l/_zHX3nvE7IKcZ
https://dl.doubtnut.com/l/_V5Zl4BPwoZRc

C

10 ¢m

Based on the above information , answer any
four of the following questions :
If the ratio of the perimeter of AAOB to the

perimeter of ACOD would have been 1:4 ,

then
A.AB =2CD
B.AB = 4CD

C.CD =2AB


https://dl.doubtnut.com/l/_V5Zl4BPwoZRc

D.CD = 4AB

Answer:

o Watch Video Solution

9. A farmer has a field in the shape of
trapezium whose map with scale 1cm =20 m is
given below :

The field is divided into four parts by joining

the opposite vertices .


https://dl.doubtnut.com/l/_V5Zl4BPwoZRc
https://dl.doubtnut.com/l/_HkZRPfpHdKhD

-
10 ¢m

Based on the above information , answer any
four of the following questions :

If in

AO AD OD
AsAOD and B _ _op
sAOD and BOC, == = 55 = 55

then

A.AAOD — ABOC

B.AAOD — ABCO

C.AADO — ABCO


https://dl.doubtnut.com/l/_HkZRPfpHdKhD

D.AODA — AOBC

Answer:

o Watch Video Solution

10. A farmer has a field in the shape of
trapezium whose map with scale 1cm =20 m is
given below :

The field is divided into four parts by joining

the opposite vertices .


https://dl.doubtnut.com/l/_HkZRPfpHdKhD
https://dl.doubtnut.com/l/_bZwkvfXoxVil

*
10 ¢m

Based on the above information , answer any
four of the following questions :

If the ratio of areas of two similar triangles
AOB and COD is 1:4 , then which of the

following statements is true ?

A. The ratio of the their perimeters is 3:4
B. The corresponding altitudes have a ratio

1:2


https://dl.doubtnut.com/l/_bZwkvfXoxVil

C. The medians have aratio1: 4

D. The angle bisectors have a ratio 1: 16

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bZwkvfXoxVil

